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Please draw a around your answers. No calculators, cell-phones, notes, etc. allowed.
Good luck!

(a) Find the critical points of f and classify them as local maxima, local minima, or

saddles.
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(b) Find the maximum and minimum values of f on the ellipse z2 + %; = 1.
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2. (6+6-+6pts) Evaluate the following integrals:
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(c) / / eV 44 where R= {(z,y) € R?: [y > V3|| and 2 + 47 < 4}
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3. (6’pts)Compute///ey/"” dV; where R = {O<I<1 P <y<z 0<z<ay}h
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4. (6+6 pts) Let R = {(z,y,2) e R®: 0 < 2 < 1—|z| — |y| and z > 0}. Write a triple

integral, do not evaluate, to compute the volume of R in

(a) dzdydz order.
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5. (8+8 pts) Evaluate the following integrals:

3z + 3y + ¥V dA; where R is the triangle with vertices (0,0), (—1,2), and
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(b) // z e dA; where R={l <zy <3and 0 <y <z < 4y}. (Hint: z = s and
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6. (6+6+6 pts)

Compute the following line integrals:

a) / 8z + 4 ds; where C is the curve along y = 2%+ z from (0,0) to (1,2)
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(b) / zy®dz + y dy; where C is the curve along 22 — % = 1 from (1,0) to (\/5, 1)
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(c) F - dr; where F = (-5 il +y 24+ 1) and C is the curve parametrized by r(f) =
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7. (8+8+8 pts) Let F(z,y, 2) = (Avy + Br’sine, ° + z€¥%,ye¥* 4 27 sin (22))

(a) Determine A and B so that F(z,y, z) is conservative.
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(b) For A and B found in part (a) evaluate / Fdr; where C is the curve parametrized
) Cy
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(c) Let C, be the curve connecting (5,0,0) to (—5,0,0) obtained by intersecting z =

1- (—“’5—; +9?) and z = z?. Compute i F - dr.
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